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gj;jpuk; 01    
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35 2 
36 1 
37 5 

38 3 
39 2 
40 1 

41 4 
42 3 

43 2 
44 3 
45 4 
46 4 

47 5 
48 3 

49 2 

50 4 

 

 

   f.ngh.j. (cau; juk;) 

nghUspay; I 
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1.  

I. nghUspaypd; mbg;gilapy; ,aw;if toq;fis ,uz;lhfg; gpupf;fyhk;.      
1. kPs cUthf;ff; $ba tsq;fs;   2. kPs cUthf;f Kbahj tsq;fs; 
 

kPs cUthf;ff;$ba tsq;fs; vd;gJ gad;ghl;bd; NghJ Nja;tpw;Fl;glhj 
tsq;fshFk;. mit kPz;Lk; kPz;Lk; cUthFtJld; jpUk;gTk; gad;ghl;bw;F 
cl;gLj;jyhk;.             (1 Gs;sp)                                    
cjhuzkhf fhl;L tsq;fs;> flypy; cs;s kPd;fs;            (1 Gs;sp) 
 
kPs cUthf;f Kbahj tsq;fs; vd;gJ gad;ghl;bd;NghJ Nja;tpw;F 
cl;gLtJld; mit kPz;Lk; cw;gj;jp nra;a Kbahj tsq;fshFk;.  

(1 Gs;sp) 
cjhuzkhf fdpa vz;nza;> epyf;fup> ,aw;if thA          (1 Gs;sp) 
 

II. vy;iyaw;w tpUg;gq;fSld; xg;gpLk; NghJ nghUshjhukhdJ clikahf 
nfhz;Ls;s tsq;fshdJ gw;whf;Fiwahf ,Ug;gNj mUik vdg;gLk;.  

 nghUshjhuj;jpDs; cilikahf nfhz;Ls;s tsq;fshdJ 
tpidj;jpwdhfTk; cj;jk kl;lj;jpYk; cw;gj;jp nraw;ghl;by; 
gad;gLj;Jtjd; %yk; ngw;gLfpd;w gz;l Nrh;f;ifapid cw;gj;jp 
rhj;jpa tisapahdJ fhl;Lk; 

 ,g;gz;l Nrh;f;ifapid kpifj;Jr; nry;Yk; epiyikapid mUikapd; 
%yk; fhl;lg;gLk;. ,jd;gb cw;gj;jp rhj;jpa tisapapw;F tyg;Gwkhf 
fhzg;gLk; Gs;spapd; %yk; mUik fhl;lg;gLk;. tiugpy; A 
Gs;spapdhy; mUik jd;ik fhl;lg;gl;Ls;sJ.            (1 Gs;sp) 

 mUikapd; fhuzkhfTk; mUikahd tsq;fspd; khw;Wg; gad;ghL 
fhuzkhfTk; xU Njitia epiwNtw;Wtjw;F gy;Ntwhd khw;W 
topfspy; xd;iw kl;LNk njupT nra;tNj njupT vd miof;fg;gLk;. 

 cw;gj;jp rhj;jpa tisapapd; kPJ mike;Js;s Gs;spapd; %yk; 
njupitf; fhl;lyhk;. tiuglj;jpy; B,C Gs;spfshy; njupT vd;w tplak; 
fhl;lg;gl;Ls;sJ.                                  (1 Gs;sp) 

 khw;Wg; gad;ghLfSf;fpilapy; xd;iwj; njupT nra;Ak; NghJ 
,of;fg;gLk; mLj;j kpfr; rpwe;j khw;Wg; gad;ghl;bd; ngWkjpNa 
mikar; nrythFk;. 

f. ngh.j cah; juk; 

nghUspay; II 

 fy;tpg; nghJ juhju cah;jug; guPl;irf;fhd Kd;Ndhb guPl;ir-2022 

nghUspay; -11                        Neuk;:- %d;W kzpj;jpahyq;fs; 

Gs;sp toq;Fk; jpl;lk; 

,uz;lhk; gFjp 



 cw;gj;jp rhj;jpa tisapapy; ,uz;L Gs;spfSf;fpilapyhd 
,ilntspahdJ mikar; nryitf; fhl;Lk;> ,e;epiyapy; xU 
gz;lj;jpd; cw;gj;jpia mjpfupf;Fk; NghJ ,d;DnkhU gz;lj;jpd; 
cw;gj;jpiaf; Fiwf;f Ntz;Lk;. tiuglj;jpy; epoyplg;gl;l 
gFjpapdhy; mikar; nryT fhl;lg;gLl;Ls;sJ.          (1 Gs;sp)  

 

 

 

 

 

 

 

 

 

             (1 Gs;sp) 

III. kdpj %yjdk; vd;gJ Fwpj;jnthU egh; VjhtnjhU njhopypy; tpisjpwid 
mjpfupg;gjw;F cjtf;$ba fy;tp> gapw;rp> mDgtk; vd;gtw;wpd; %yk; 
ngw;Wf;nfhs;Sk; mwpT> Mw;wy;> r%f kw;Wk; MSik gz;GfshFk;. 

(1 Gs;sp) 
I. kdpj %yjdj;ij cah;j;Jtjw;F gy;Ntwhd eilKiwfs; 

fhzg;gLfpd;wd 
o fy;tpiaAk; gapw;rpiaAk; toq;Fjy; 
o Rfhjhu Nghridj; jpl;lq;fis tYg;gLj;Jjy; 
o etPd njhopEl;gq;fis mwpKfg;gLj;jYk;> Kd;Ndw;wkilar; 

nra;jYk;. 
o ngsjPf %yjdj;ij cah;j;Jjy; 
o Cf;Ftpg;Gf;fis toq;Fjy; 
o njhopy;fSf;fpilapy; R%fkhd mikg;gpy; njhlh;Gfs; 

fhzg;gLjy;. 

          (xU tplaj;jpw;F 1 Gs;sp tPjk; 3 tplaq;fSf;F 3 Gs;spfs;) 

IV. mbg;gil nghUshjhu gpur;rpidfisj; jPh;g;gjw;fhf gy;Ntwhd r%fq;fshy; 
jahupf;fg;gl;l epWtd uPjpahd xOq;fikg;Ng nghUshjhu Kiwahf 
fUjg;gLk;.             (1 Gs;sp) 

i. tsq;fisg; gq;fPL nra;tJ njhlh;ghf jPh;khdk; vLj;jYk; 
mj;jPh;khdq;fis njhlh;GgLj;Jk; nghwpKiwAk;. 

ii. cw;gj;jp tsq;fs;> nrhj;Jf;fs;> njhlh;ghd cilikAk; nrhj;JupikAk; 
iii. nghUshjhuj;jpy; jPh;khdq;fis Nkwnfhs;Sk; myFfs; kPJ jhf;fk; 

nrYj;Jk; Cf;Ftpg;G Kiwikfs;. 
iv. murpay; nghUshjhu fz;Nzhl;lq;fs; 
v. tUkhd kPs; gq;fPLk;> r%f ghJfhg;G tiyaikg;Gk;.      (3 Gs;spfs;) 

%yjdg; gz;lk; 

njupT; 

mUik 

Efh;Tg;gz;lk; 

mikar; nryT 



 

V. nghUshjhu tpidj;jpwd; vd;gJ nghUshjhnkhd;W cilikahf nfhz;Ls;s 
tsq;fis ehl;L kf;fspd; tpUg;gq;fis epiwNtw;Wtjw;fhf tpidj;jpwdhd 
Kiwapy; gad;gLj;JtjhFk;. 

cw;gj;jp rhj;jpa tisapapd; kPJs;s Gs;spapy; nghUshjhuk; xd;W 
nraw;gLtij nfhz;L nghUshjhukhdJ nghUshjhu tpidj;jpwid 
mile;Js;sJ vd $w KbahJ         (1 Gs;sp) 

nghUshjhu tpidj;jpwid miltjw;F epiwNtw;wNtz;ba epge;jidfs; 
,uz;lhFk;. mit 

1 cw;gj;jp tpidj;jpwd; 

2. ts xJf;fPl;byhd tpidj;jpwd;      (1 Gs;sp) 

cw;gj;jpj; tpidj;jpwd; vd;gJ nghUshjhuj;jpy; cs;sPLfspd; %yk; cj;jk 
ntspaPl;il ngw;Wf; nfhs;tjhFk;. ,jid miltjw;F ,uz;L  
epge;jidfis epiwNtw;w Ntz;Lk; 

1. epiw njhopy; kl;lk; 

2. G+uz cw;gj;jp 

cw;gj;jp rhj;jpa tisapapd; kPJ mike;Js;s Gs;spahdJ nghUshjhuj;jpy; 
cw;gj;jp tpidj;jpwd; Vw;gl;Ls;sJ vd;gijf; fhl;Lk;.          (1 Gs;sp) 

ts xJf;fPl;by; tpidj;jpwd; vd;gJ r%f tpUg;gj;jpw;F Vw;g gz;lq;fis 
my;yJ r%fj;jpdhy; kpfTk; tpUk;gf;$ba gz;l cw;gj;jpf;fhf 
nghUshjhukhdJ cilikahff; nfhz;Ls;s mUikahd tsq;fis 
gad;gLj;JtjhFk;. 

Ts xJf;fPl;byhd tpidj;jpwd; Vw;gLk;NghJ tpiyahdJ vy;iy 
nryTf;Fk;> vy;iy eyDf;Fk; rkg;gLj;jy; Ntz;Lk;. (P=MC=MB) 

,jd;gb nghUshjhu tpidj;jpwd; cw;gj;jp rhj;jpa tisapapd;  kPJs;s 
xNu xU Gs;spapd; %yk; kl;LNk mila KbAk;. ,jdhy; cw;gj;jp rhj;jpa 
tisapapd; kPJ xU nghUshjhukhdJ nraw;gLtijf; nfhz;L 
nghUshjhukhdJ tpidj;jpwid mile;Js;sJ vd $w KbahJ. 

                                                   (1 Gs;sp) 

2. 

I. Vida fhuzpfs; epiyahf ,Uf;ifapy;  (khw;wkpd;wp ,Uf;ifapy;) Fwpj;j 
gz;lj;jpd; tpiyf;Fk; Nfs;tp njhiff;Fk; ,ilNa fhzg;gLfpd;w vjpu; 
fzpa njhlu;gpid Nfs;tp tpjp vd tiutpyf;fzg;gLj;jyhk;.   (1 Gs;sp) 

Nfs;tp rhu;gpy; cs;slf;fg;gLfpd;w fhuzpfspd; mbg;gilapy; Nfs;tp 
tpjpapy; epiyahf fhzg;gLgit vdf; fUjg;gLk; tplaq;fs; 

 njhlu;Gila gz;lj;jpd; tpiy 

 Efu;Nthd; tUkhdk; 

 Efu;Nthd; Rik 



njhif^Q& 

tpiy &gh 

0 

S 

 vjpu;ghu;f;if 

 Efu;Nthu; vz;zpf;if 

 Vida fhuzpfs; vd;gitahFk; 

 (xU fhuzpf;F 1  Gs;sp tPjk; 3  fhuzpfSf;F 3  Gs;spfs;) 

 

II. Vida fhuzpfs; epiyahf fhzg;gLk; NghJ gz;lnkhd;wpd; tpiyahdJ 
khw;wkilAk; rjtPjj;ij tpl Fiwe;j rjtPjj;jpdhy; epuk;gy; njhifahdJ 
khw;wkilAk; NghJ nefpo;tw;w epuk;gy; Njhd;Wk;              (2 Gs;sp) 
 
nefpo;tw;w epuk;gy; fhzg;gLk; gz;llnkhs;wpd; epuk;gy; tisapahdJ 
njhifar;rpd; Clhf nry;Yk; 
 
 
 
 
 
 
 
 

             (1 Gs;sp) 

 

nefpo;tw;w epuk;giyf; nfhz;Ls;s gz;lnkhd;wpd; epuk;gy; tisapapd; 
Fj;jr;R ntl;Lj; Jz;lhdJ vjpu;f;fzpa (-) ngWkjpiaf; nfhz;bUf;Fk; 
,jd;gb epuk;gy; rkd;ghlhdJ (Qs= -a+bp) MFk;. 
 
njhifar;ir ClWj;Jr; nry;Yk; nefpo;tw;w epuk;gy; tisapapd; nefpo;r;rpf; 
Fzfj;jpd; ngWkjpahdJ vg;NghJk; xd;iwtpl Fiwthd ngWkjpiaf; 
nfhz;bUf;Fk;. 
 
 

III. muprpf;F nefpo;tw;w Nfs;tp fhzg;gLtjdhy; tpiy mjpfupf;Fk;NghJ 
cw;gj;jpahsu; tUkhdKk; cau;tilAk;.  MdhYk; fzzpf;F nefpo;Tila 
Nfs;tp fhzg;gLfpd;wJ. ,jdhy; fzdpapd; tpiyia cau;tilar; 
nra;jhy; cw;gj;jpahsu; tUkhdk; FiwtilAk;. ,jdhy; cw;gj;jpahsu; 
tUkhdj;ij cau;j;Jk; Nehf;fpy; muprpapd; tpiyia kl;LNk cau;j;Jjy; 
Ntz;Lk;.           (4 Gs;spfs;) 

 

 

 

 

 



IV. Nfs;tp rkd;ghL  - Qd = 52-4p 
 

epuk;gy; rkd;ghL  - Qs = 18+6p  

m.              Qd = Qs 

                                    52-4p = -18 + 6p 

                                    52+18 = 6p + 4P 

                                          70 = 10p 

                                          70/10 = p 

                                               7 =   p 

Qd = 52 – 4p                                         Qs = -18 + 6p 

         52- 4x7                                                 -18 + 6 x 7 

         52-28                                                    - 18 + 42 

        =    24                                                     =  24 
 

rkepiy tpiy &gh = 7                                                    (1 Gs;sp) 

rkepiyj; njhif = 24 myFfs;                                         (1 Gs;sp) 

 

M. rkepiyapd; NghJ Nfs;tp nefpo;r;rp    

     Ed  =  -b x P/Q 

                  = -4 x 7/24 

                  = -1.166                                                        (1 Gs;sp) 

rkepiyapd; NghJ epuk;gy; nefpo;r;rp  

     Ed  =  b x P/Q 

                  =   6 x 7/24 

                  = -1.75                                                            (1 Gs;sp)   

 

V. vupnghUl;fspd; tpiy FiwtilAk; NghJ vupnghUSf;fhd Nfs;tp njhif 
mjpfupf;Fk;. ,J Nfs;tp Nfhl;bd; topNa A ,ypUe;J B tiu nry;fpwJ. 
vupnghUSk; thfdq;fSk; epug;Gg; gz;lq;fs; MFk; ,jdhy; thfd 
,wf;Fkjp tiuaWf;fg;gLk; NghJ vupnghUSf;fhd Nfs;tpahdJ D 
,ypUe;J D1 Mf FiwAk;. vupnghUs; epuk;gyhdJ epiyahf fhzg; 
gLifapy; vupnghUSf;F Nfs;tp FiwtilAk; NghJ Mff;Fiwtile;j 
tpiyapd; fPNoNa re;ij njhifahdJ Q1 ,Ue;J Q tiu FiwtilAk;                           

  (2 Gs;spfs;) 



          
 

 
tpiy 
                                                           S 
 
                                   A 
               P1 
 
 
 
                P                                                   B 
 
                                          
            
                                                    D1                  D 
                                           njhif 
                 0               Q                     Q1                    

                                                                                                          (2 Gs;spfs;)                  
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I. Kl;ilf;F cau;e;j tpiyia tpjpg;gjd; nghUshjhu ghjpg;Gfs; 

 kpiff; Nfs;tpapdhy; re;ijapy; nghUs; gw;whf;Fiw Njhd;Wjy; 

 rl;luPjpaw;w fUg;Gr; re;ij tpiyapd; fPo; gz;lj;ij tpepNahfpg;gjw;F 
tpahghupfs; Kaw;rp nra;jy; 

 fUg;G re;ijapd; tpiyapd; fhuzkhf Kd;du; fhzg;gl;l rkepiy 
tpiyiatpl cau;e;j tpiyf;F gz;lj;ij tpepNahfpj;jy; 

 cr;r tpiyAld; cw;gj;jpahsu; ,yhgk; tiuaWf;fg;gLk; cw;gj;jp 
Jiwapy; Nkw;nfhs;sg;gLfpd;w KjyPLfs; tiuaWf;fg;gLjy;. 

 cr;r tpiy fhuzkhf Efu;Nthu; kpif cw;gj;jpahsu; kpifapy; ghjpg;G 
Vw;gl;L r%f eydpYk; ghjpg;G Vw;gLjy;           (3 Gs;spfs;) 

 

II. glk;              ST                                              Efh;Nthd; tupr; Rik  

                                   S 
                    Pb                                                                                                                cw;gj;jpahsh; tupr; Rik 

                     P1 

                     P2 

                                                       

                        0               Q2     Q1           D                         Q                             (2 Gs;spfs;)     

  

      Efh;Nthid tpl $Ljyhd tupr;Rikia cw;gj;jpahsh; Vw;ghh;.  

  (2 Gs;spfs;) 

 

 



III.  
a)                  Qd         =          Qs                                        Qd   = 250 – 2x62 

                   250-2p    =    -60 + 3p                                             = 250 – 124 

                                           - 2p – 3p =   -60 – 250           rkepiyj; njhif  = 126 myFfs; 

                                           -5p/-5      =    -310 / -5 

                           rkepiy tpiy  P  =  62 &gh       (2 Gs;spfs;) 

  

 

 

 

 

 

 

    

Qd =250-2x80                                  Qs = -60+3x80 

    =250-160     = -60 +240 

    = 90      = 180                     (1 Gs;sp) 

 

   Qd = 250-2p 

   180 = 250 – 2p 

   2p = 250-180 

            2p/2 = 70/2 

   p = 35         (1 Gs;sp) 
  

b)  

 kpif epuk;giyf; nfhs;tdT nra;tjw;fhd murpd; nryT = cj;juthj 
tpiy X muR nfhs;tdT nra;j msT 

                = 80 x 90 

                                    = 7200 &gh                                    (1 Gs;sp) 

 Fiw epug;Gf; nfhLg;gdT = tpiy MjuT X njhif 

= (80-35) X 180 

= 8100 &gh                                  (1 Gs;sp) 

kpif epuk;giy muR 
nfhs;tdT nra;jy; 

Fiwepug;G nfhLg;gdT 

cj;juthj tpiy 

(tpiy MjuT) 



r%f eyd; el;lk;  = 7200 - 810 = 6390       (2 Gs;spfs;) 

r%f eyd; ,og;G vd;gJ re;ijapy; Njhd;Wk; kpif 
cw;gj;jpapd; NghJ Fiw cw;gj;jpapd; NghJk; tsg;gfph;thdJ 
tpidj;jpwdw;wjhf miktjhFk;. 

r%f eyd ,og;G = (80-35) x (180-126) x 1/2 = 1215 

 

IV.  

V. ^rupahd tiugpw;F 02 Gs;spfs;)  

 

 

 nefpo;tw;w epuk;gy; nefpo;tw;w Nfs;tpAk; fhzg;gLk; tptrhag; 
nghUl;fSf;F ngUk;ghYk; ghupastpyhd tpiyj; jyk;gy;fis 
vjpu;Nehf;f Ntz;b ,Ug;gjdhy; rpy fhyq;fspy; epuk;gy; mjpfupj;J tpiy 
FiwAk;NghJ ( P1 ,Ue;J P2) tpiyia cWjpahf NgZk; nraw;ghlhf 

kpif ,Ug;ig Q2 ,Ue;J Q1 tiu) muR nfhs;tdT nra;tJk; epuk;gy; 
FiwtilAk; fhyj;jpy; ghJfhj;j ,Ug;ig tpLtpg;G nra;tjd; %yKk; 
(Q3 ,Ue;J Q1) tpiyapid P1 vd;w kl;lj;jpy; epiyahf itj;jpUf;f 
Kaw;rpg;gjd; %yk; tptrhapfspd; tUkhdj;ij ngUkstpyhd 
jsk;gYf;F cl;gLj;jhJ xU epiyahd kl;lj;jpy; itj;jpUg;gjw;F 
murhq;fj;jpdhy; nraw;gLj;j KbAk;. MdhYk; ,q;F nfhs;tdT nra;a 
Ntz;ba msT tpLtpg;G nra;a Ntz;ba msT njhlu;ghf murhq;fj;jpw;F 
rupahd mDgtk; ,y;yhtpl;lhy; re;ijapy; fhzg;gLk; cz;ikahd 
tpiyia tpl khWgl;l tpiy Njhd;wyhk;.    (1 Gs;sp) 

 

 

 

 

 

 

 

ghJfhg;G ,Ug;G jpul;rp 

ghJfhg;G ,Ug;G tpLtpg;G 
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 cs;sPLfSf;Fk; ntspaPLfSf;Fk; ,ilapy; fhzg;gLfpd;w njhopy;El;g uPjpahd 
njhlu;G cw;gj;jp rhu;G vd miof;fg;gLk; 

FWq;fhyj;jpy; khw;wg;glf;$baJ khWk; fhuzpfs; kl;Lk; Mifahy; 
FWq;fhy cw;gj;jp rhu;G fPo;tUkhW fhl;lg;gLk; 
Q = F (L1,L2,L3……..Ln , K) 
cw;gj;jp nraw;ghl;bw;Fupa rfy %yg;nghUl;fSk; khw;wg;gLk;NghJ 
cs;sPL kw;Wk; ntspaPl;Lf;fpilapy; fhzg;gLk; njhlu;G fPo;tUkhW 
ePz;lfhy cw;gj;jpr; rhu;gpd; %yk; fhl;l KbAk; 
Q = F (L1,L2,L3……..Ln , K1 , k2 ,K3 , …….Kn) 
             (4 Gs;spfs;) 
 
 

 FWq;fhyj;jpy; epiyahd fhuzp 
fSld; khWk; fhuzpfisAk; mjpfupj;J 
cw;gj;jpia Nkw;nfhs;Sk; NghJ ruhrup 
cw;gj;jpia tpl vy;iy cw;gj;jpahdJ 
mjpfupj;j Ntfj;jpy; mjpfupg;gJld; ruhrup 
khWk; nryit tpl mjpfupj;j Ntfj;jpy; 
vy;iy nryT FiwAk; (mjpfupf;Fk; vy;iy 
tpisT) 

 

 ruhrup cw;gj;jpahdJ cr;r 
epiyapid milAk; NghJ vy;iy 
cw;gj;jpahdJ me;j cr;rg; Gs;spapD}lhf 
fPo;Nehf;fp nry;tJld; me;epiyapy; ruhrup 
khWk; nrytpd; kpff;Fiwe;j Gs;spapypUe;J 
vy;iy nrythdJ Nky;Nehf;fp nry;Yk; 

 

 (rupahd tiugpw;F 2 Gs;spfs;) 

 Fiwe;J nry;Yk; vy;iy tpisT tpjp nraw;gLk; NghJ ruhrup tpisit tpl 
$ba Ntfj;jpy; vy;iy tpisT FiwtJld; ruhrup khWk; nryit tpl $ba 
Ntfj;jpy; vy;iy nryT mjpfupf;Fk;. 

 FWq;fhy cw;gj;jp NfhLfspd; (AP , MP)  gpujp gpk;gNk FWq;fhy nryTfs; 
MFk;. ,jd;gb cw;gj;jpf;NfhLfs; ruptile;j Mq;fpy U vOj;J tbtj;ij 
ngWtJld; nryTf; NfhLfshdJ U vOj;J tbtj;ij ngWk; (xU xg;gPl;Lf;F 
,uz;L Gs;sp vd;w gb 4 Gs;spfs;) 

 

 

 

ii 



III. mjpfupf;Fk; msT jpl;l tpisthdJ ePz;lfhy cw;gj;jpapy; (tpistpy;) 
fhzg;gLk; xU epiyikahf ,Ug;gJld; msTj;jpl;l rpf;fdkhdJ ePz;lfhy 
nryTld; njhlu;Gila vz;zf;fUthFk; 

 

mjpfupf;Fk; msTj;jpl;l tpisT 
Njhd;Wtjw;fhd fhuzq;fs; 
 

msTj;jpl;l rpf;fdk; Njhd;Wtjw;fhd 
fhuzq;fs; 
 

 njhopw; gFg;gpid Nkw;nfhs;Sk; 
Mw;wypd; fhuzkhf 

 ghupastpyhd ,ae;jpu 
cgfuzq;fis gad;gLj;Jk; 
Mw;wypd; fhuzkhf 

 xNu xU re;ju;g;gj;jpy; kl;Lk; 
Nkw;nfhs;sf;$ba nryT 
fhzg;gLjy; 

 cw;gj;jp fhuzpfs; gpupglhj;jd;ik 
 

             (1x2 = 2 Gs;spfs;) 
 

 Kfhikj;Jt rpf;fdk; 
 njhopy;El;g rpf;fdk; 
 tpdpNahf rpf;fdk; 
 Mgj;Jf;fis jhq;Ftjdhy; 

Vw;gLk; rpf;fdk; 
 
 
 
 

 
             (1x2 = 2 Gs;spfs;) 

 

 

 

epiwNghl;br; re;ij 
 

jdpAupik Nghl;br; re;ij 

 gpuNtr Rje;jpuk; fhzg;gLk; 
 cw;gj;jp epWtdq;fspd; 

vz;zpf;if ngUksT MFk; 
 FWq;fhyj;jpy; mrhjhuz 

,yhgj;ijAk; ePz;lfhyj;jpy; 
rhjhuz ,yhgj;ijAk; ciof;Fk; 

 

 gpuNtr Rje;jpuk; fhzg;gLk; 
 cw;gj;jp epWtdq;fspd; 

vz;zpf;if ngUksT MFk; 
 FWq;fhyj;jpy; mrhjhuz 

,yhgj;ijAk; ePz;lfhyj;jpy; 
rhjhuz ,yhgj;ijAk; ciof;Fk; 

 

 

(xU xg;gPl;Lf;F ,uz;L Gs;sp vd;w gb 2 X 2 = 4) 

 

 

 

 

 

 

 

 



V.          

 

 

 

 

 

           

(rupahd tiugpw;F 2 Gs;spfs;) 

epWtdnkhd;wpd; cj;jk ntspaPl;il jPu;khdpf;Fk; epge;jidfspy; xd;W MR=MC 
MFk; ,q;F MR>MC f;F fPohf mike;Js;s ntspaPl;L kl;lkhdJ Q3 Nghd;w 
kl;lj;ij jhz;ba epiyapy; epWtdk; nraw;gLk;NghJ ,yhgj;ij cr;rg;gLj;Jk;. 
cj;jk ntspaPlhd B Gs;spapy; fhl;lg;gl;l Q2 vd;w ntspaPl;L kl;lj;ij mile;J 
nfhs;tjw;F Q3 ,ypUe;J Q2 tiu cw;gj;jpia tpupthf;Fjy; Ntz;Lk;. ,t;thW 
epWtdkhdJ Q2 tiu ntspaPl;il tpupthf;Ftjw;F fhuzk; vy;iy nrytpid 
Fiwj;J ntspaPl;L tpupthf;fj;jpd; NghJ ,yhgj;jpy; NrUk; msthdJ gbg;gbahf 
mjpfupj;J B Gs;spapy; ,yhgk; cr;rgLtjdhyhFk;. 

(2 Gs;spfs;) 

5. 

I. nghUshjhuj;jpy; fhzg;gLk; %yjd ,Ug;gpw;F cw;gj;jpapd; %yk; Gjpjhf 
Nru;f;fg;gLk; %yjdk; MdJ nkhj;j cs;ehl;L %yjdthf;fk; vd miof;fg;gLk;  

(1 Gs;sp) 
nkhj;j cs;ehl;L %yjd Mf;fj;jpd; gpujhd cs;slf;f $Wfshf nkhj;j 
cs;ehl;L epiyahd %yjdthf;fk;> ,Ug;G khw;wk;> ngWkjp rPuhf;fk; vd;gd 
fhzg;gLk;.             (3 Gs;spfs;) 
 

II. m. nkhj;j cs;ehl;L nryT  = C + I + G 

         = 500 + 700 + 750 

      = 1950 

      M. nkhj;j cs;ehl;L cw;gj;jp = nkhj;j cs;ehl;L nryT + Njwpa Vw;Wkjp 

      = 1950 + 100 

      = 2050 
 

     ,. nrytplf; $ba          = nkhj;j cs;ehl;L  + Njwpa ntspehl;L  + Njwpa ntspehl;L  
     nkhj;j Njrpa tUkhdk;         cw;gj;jp       Kjd;ik tUkhdk;    ,uz;lhk; epiy  
                                                                  tUkhdk; 
       =  2050     +  150  + 250 

       =  2450 



 

   <. Njrpa Nrkpg;G          = nkhj;j cs;ehl;L  + Njwpa ntspehl;L  + Njwpa ntspehl;L  
                             Nrkpg;G         Kjd;ik tUkhdk;  ,uz;lhk; epiy  
                                                              tUkhdk; 
        =     800   +  150  + 250 

           =    1200 

                                                                                                                (1x4 = 4 Gs;spfs;) 

 

III. Ngupdg; nghUshjhu rk epiyia jPu;khdpf;Fk; Kiwia %d;W mZFKiwapy; 
fhl;lyhk; mjhtJ  
tUkhdk; = nryT  
cl;gha;r;ry; = ntspg; gha;r;ry;  
nkhj;j Nfs;tp = nkhj;j epuk;gy; vd;w mZF Kiwfs; MFk;  
 
,jd;gb muR jiyaPL nfhz;l nghUshjhuk; xd;wpy; nkhj;j tUkhdk; MdJ 
jdpahu; Efu;T> Nrkpg;G> tup vd;gtw;iw mbg;gilahff; nfhz;bUf;Fk; ,tw;Ws; 
Nrkpg;Gk; tupAk; ntspg;ghr;ry;fshFk;. 
 
nghUshjhuj;jpy; nkhj;jr; nrytpd; tifapy; jdpahu; Efu;T nryT> mur 
nfhs;tdT> KjyPl;Lr; nryT vd;git fhzg;gLk;. ,tw;Ws; cl;gha;r;ryhf mur 
nfhs;tdT> KjyPl;Lr; nryT vd;gd fhzg;gLfpd;wd.              (1 Gs;sp) 
 
Ngupdg; nghUshjhu rk epiyapy; cl;gha;r;ryhdJ ntspg;gha;r;rYf;F rkdhff; 
fhzg;gLk; mjid gpd;tUk; tiugpd; %yk; fhl;lyhk;.       (1 Gs;sp) 
 
 
 
 
 
 
 
 
 
 
 
 
 
                                               (1 Gs;sp) 
 
NkYs;s tiugpy; cl;gha;r;ryhdJ ntspg;gha;r;rYf;F rkg;gLk; epiyikahdJ 
Ngupd nghUshjhu rkepiy ntspaPl;L kl;lkhf Q tpd; %yk; fhl;lg;gl;Ls;sJ.  
,e;epiyapy;  S+T = I + G   MFk;. 
                                                        (1 Gs;sp) 
 
 



IV. A.  

 jd;dpr;irahd Efu;Tr; nryT 
vd;gJ tUkhdj;jpdhy; jPu;khzpf; 
fg;glhj Efu;Tr; nrythFk;. 

 
 tUkhdkhdJ G+r;rpakhf 

fhzg;gLk; NghJs;s Efu;Tr; 
nrythFk;. 
 

 
 jd;dpr;irahd Efu;tpd;NghJ 

Nrkpg;ghdJ vjpu;fzpa 
ngWkjpiaf; nfhs;Sk; Efu;T 
rhu;gpd; ntl;Lj; Jz;bd; %yk; 
jd;dpr;irahd Efu;T fhl;lg;gLk; 
  

C= a + byd 
 

 J}z;lg;gl;l Efu;T nryT  vd;gJ 
tUkhdj;jpw;F Vw;g jPu;khdpf;fg; 
gLk; Efu;Tr; nrythFk;. 
 

 Jd;dpr;irahd Efu;T nryit 
tpl cau;e;j tUkhdk; kl;lj;jpy; 
Nkw;nfhs;sg;gLk; Efu;T 
nrythFk;. 

 
 J}z;lg;gl;l Efu;tpd;NghJ 

Nrkpg;ghdJ Neu; fzpa 
ngWkjpiaf; nfhs;Sk;  
 

C = a + byd 
 

              (,uz;L tplaj;jpw;Fk; 1 Gs;sp gb 2 Gs;spfs;) 
   

Efu;T rhu;gpy; vy;iy Efu;T ehl;lj;jpdJk; nrytplf; $ba tUkhdj;jpdJk; 
ngUf;fj;jpd; %yk; J}z;lg;gl;l Efu;Tr; nryT fhl;lg;gLk;. 

C = a + byd 

 

  B. 

 nrytplf; $ba tUkhdj;jpd; khw;wj;jpw;F Vw;g Nrkpg;gpy; Njhd;Wk; khw;wkhdJ 
vy;iy Nrkpg;G ehl;lk; vd miof;fg;gLk; ,jid gpd;tUkhW fzpg;gplyhk; 

      MPS   =       S  

                                YD 

                              vy;iy Nrkpg;G ehl;lk;    =  Nrkpg;gpy; khw;wk; 

                                      tUkhd khw;wk; 

 nrytplf; $ba tUkhdkhdJ xU myfpdhs; khw;wkilAk; NghJ Nrkpg;ghdJ 
vj;jid myFfspdhy; khw;wkilfpd;wJ vd;gij ,J mstpl;Lf;fhl;Lk;.  
                                                      (1 Gs;sp) 

 nrytplf; $ba tUkhdj;jpy; Nrkpf;fg;gLfpd;wd msthdJ ruhrup Nrkpg;G 
ehl;lkhf fUjg;gLk;. tUkhdk; caUk; NghJ ruhrup Nrkpg;G ehl;lKk; 
cau;tilAk; ,jid gpd;tUkhW Fwpg;gplyhk;; 

      APS   =     S  

                  YD                                                           (1 Gs;sp) 
 



V. ,g;nghUshjhuj;jpy; vy;iy Efh;T ehl;lkhdJ 0.8 Mf ,Uf;Fk; NghJ 
jd;dpr;irahd nryT ngUf;fp> tupg;ngUf;fp vd;gtw;wpd; mbg;gilapy; rkepiyapy; 
Njhd;Wk; khw;wj;ij gpd;tUkhW fzpg;gplyhk;. 

∆y = KG × ∆G + KT × ∆T 

 =
�

���
	× 100 +

��

���
× 100 

 =
�

�.�
× 100 +

��.�

�.�
× 100  

 = 500 + (400) 

         = 100   

                       (1 Gs;sp) 

    NkYs;s fzpg;gpd; gb mur nfhs;tdtpy; Njhd;Wk; cah;thdJ Neubahf 
nghUshjhuj;jpy; rkepiy ntspaPl;bw;F my;yJ tUkhdj;jpw;F jhf;fk; 
nrYj;Jfpd;wJ vd;gJ njspthFk;. ,jd;gb mur nrythdJ 100 My; mjpfupj;jhy; 
mur nryT ngUf;fpapd; mbg;gilapy; rkepiy ntspaPlhdJ 5 klq;fhy; mjpfupf;Fk;. 

(1 Gs;sp) 
,jdbg;gilapy; rkepiy ntspaPl;byhd mjpfupg;ghdJ (500 – 400) 100 MFk;. 

(1 Gs;sp) 
06.  

o nghJ kf;fsplk; cs;s ehzaq;fSk; jhs;fSk;  
o tzpf tq;fpfsplKs;s nghJkf;fSf;F cupa Nfs;tp itg;Gfs;  
o tzpf tq;fpfsplk; cs;s nghJkf;fSf;F cupa Nrkpg;G kw;Wk; jtiz 

itg;Gfs;  
o tjptw;Nwhu; ntspehl;L ehza fzf;fpy; cs;s jtiz Nrkpg;G itg;Gfspd; 

50% 
o tjpTs;Nshu; ntspehl;L ehza tq;fp myfpy; cs;s jtiz Nrkpg;G 

itg;Gfs;  
o M2b = M2 + rPuhf;fg;gl;l ntspehl;L rl;lKiw gzitg;Gf;fs; my;yJ 
o M2b = M2 + fly;fle;j tq;fpfspy; fhzg;gLk; FbapUg;ghsu;fspd; ntspehl;L 

rl;lKiw gzitg;Gfs;  +  cs; ehl;L tq;fpfspy; ntspehl;L rl;lKiw gz 
tq;fp myFfspy; fhzg;gLk; ntspehl;L rl;lKiw gzitg;Gfspd; cs;ehl;L 
nghWg;Gfs;              

 
o gzj;jpd; ngWkjp tPo;r;rp miljy;  
o tho;f;ifr; nryT mjpfupg;G  
o Nrkpg;Gf;fhd Cf;fk; Fiwjy;  
o fld; toq;fpNahu; el;lk; miljy;  
o epiyahd tUkhdk; ngWNthu; ghjpf;fg;gly;  
o ePz;lfhy KjyPLfSf;fhd Cf;fk; Fiwjy;  
o gzj;Jf;fhd Nfs;tp Fiwjy;  
o nka; nrhj;Jf;fSf;fhd Nfs;tp mjpfupj;jy;  
o tsg;ghtidapd; tpidj;jpwd; Fiwjy;  
o rg;ghj;J Njhy; nryTk; gw;Wr;rPl;L nryTk; mjpfupj;jy;   

(1 Gs;sp tPjk; 4 Gs;spfs;) 

 



o nka; tUkhdk;  
o epjp Kiwapy; etPdj;Jtk;  
o tl;b tPjk;  
o epWtdk; rhu; fhuzpfs;  
o vjpu;fhy tpiy vjpu;ghu;f;fpwhu;fs;        (1x4 Gs;spfs;) 
 

o m. mj;jpahtrpa xJf;Ffs;   = itg;Gfs; x rl;luPjpahd xJf;F tPjk; 

                           =  2000 X 10/100 

                                                   =  200                  (1 Gs;sp)                      

    kpif xJf;Ffspd; msT                = 500-200=300            (1 Gs;sp) 
 
M. nkhj;j fld; msT  =   Nkyjpf itg;G msT x itg;G ngUf;fp  

                                          = 300 x 1 / 10% 

     = 300 x 10 = 3000      (2 Gs;spfs;) 

 

V.  
o FWq;fhy kw;Wk; ePz;l fhy epjp nrhj;Jf;fs; gupkhw;wg;gLk; re;ijahdJ 

epjpr; re;ij vd miof;fg;gLk;. ,J gpujhdkhf ,U gpupTfshf 
tifg;gLj;jg;gLk;.          (2 Gs;spfs;) 

o mjhtJ gzr; re;ijAk;> %yjd re;ijAk; MFk;.  
o FWq;fhy nrhj;Jf;fs; gupkhw;wg;gLk; re;ij gzr; re;ij vd miof;fg;gLk;. 

    (1 Gs;sp)  
o ePz;lfhy nrhj;Jf;fs; gupkhw;wg;gLk; re;ij %yjd re;ij vd 

miof;fg;gLk;;.             (1 Gs;sp) 

7. 

I. Efh;tpy; Neh; ntspthup tpisT vd;gJ gz;lk; my;yJ Nrit xd;iw Efu;tpd; 
NghJ mjw;F ntspNa cs;s %d;whk; FOtpdu; ngUk; ed;ikahFk;.  
,J Efu;tpy; Neu; fzpa ntspthup tpisthf fhl;lg;gLk;.  
,jid gpd;tUk; tupg;glk; %yk; tpsf;f KbAk;.       (1 Gs;sp) 
 

 

 

 

 

 

 

 

 

 

 

r%f 
eyd; 

jdpahh; 
eyd; 

ntspahh; eyd; 



NkYs;s tiuglj;jpd; gb gz;lj;jpd; cw;gj;jp kl;lk; Qp MFk;. Neu; fzpa 
ntspthup tpisT fhzg;gLtjdhy; cj;jkkhd cw;gj;jp kl;lk; Qs Mf ,Uf;f 
Ntz;Lk;.  
 
mjd;gb ,jdhy; tpsq;FtJ r%fj;Jf;F fpilf;Fk; eyd; jdpg;gl;l Kiwapy; 
fpilf;fpd;w eyid tpl cau;e;j ngWkjpia ngWk;NghJ (MBP< MSB) 
 
mg;gz;lj;jpd; cw;gj;jpia Nehf;fp cj;jkkhd tsg;gq;fPL xd;W ,lk; 
ngwtpy;iy vd;gjhFk;. Fiwthd tsg;gad;ghL ,lk;ngw;Ws;sJ my;yJ 
tsg;gq;fPl;by; nraw;wpwdpd;ik fhzg;gLtJ ,q;F njspthfpd;wJ.   (1 Gs;sp) 
 

II. nghJg; gz;lk;  
o Efu;tpy; Nghl;bj;jd;ik fhzg;glhj Efu;tpypUe;J tpyf;fg;gl Kbahj 

gz;lq;fs; MFk;.         (1 Gs;sp) 
cjhuzkhf tPjp ntspr;rk; fyq;fiu tpsf;fk;     (1 Gs;sp) 

 
nghJ tsq;fs;  

o Efu;tpy; Nghl;bj;jd;ik fhzg;gLfpd;w Efu;tpy; ,Ue;J tpyf;fg;gl 
KbahjitahFk;.            (1 Gs;sp) 
cjhuzkhf nghJ Gy;ntspfs;> MWfs;> ePu;j;Njf;fq;fSk; kPd; tsq;fs;> 
fhLfs;              (1 Gs;sp)

    

III. ey;y tup xd;wpd; ,ay;Gfshtd  
o epahaj;Jtk; - Fj;jhd kw;Wk; fpilahd epahaj;Jtk;  
o nraw;wpwd;  
o epr;raj;jd;ik  
o vspikj;jd;ik  
o rpf;fdj;jd;ik  
o nefpo;Tj;jd;ik      

(1 Gs;sp tPjk; 4 Gs;spfs;) 

 

IV. nghUshjhuj;Jf;F nghJ gz;lq;fis toq;Fk; NghJ murhq;fj;Jf;F 
toq;fg;gl;Ls;s nghWg;Gfis kpfTk; ntw;wpfukhf;fpf; nfhs;Sk; Nehf;fpy; 
jdpahu; Jiwapd; cjtpia ngw;Wf; nfhz;L nraw;gLk; Ntiyj;jpl;lq;fs; mur 
jdpahu; gq;Flik MFk;.        (1 Gs;sp) 

o Eiur;Nrhiy mdy; kpd; epiyak;  
o nfhOk;G JiwKfj;jpy; njd; nfhs;fyd; ,wq;FJiw  
o mjpNtfg; ghij         (1 Gs;sp) 

 
o ed;ikfshtd  
o cl;fl;likg;G trjpfs; mgptpUj;jp miljy; 
o nghUshjhu tsu;r;rp Vw;gly;. 
o muR tUkhdj;ij mjpfupj;Jf; nfhs;s KbAkhjy;  
o nghUshjhuj;jpd; cw;gj;jp tpidj;jpwd; mjpfupj;jy;.       (2 Gs;spfs;) 

 
 



V.  
o eilKiwf; fzf;F kPjp (muR Nrkpg;G) kPJ ghjf jd;ik Vw;gly;  
o KjyPl;Lf;fhf nra;ag;glf;$ba nryTfs; tiuaiwf;Fl;gl;ly;.  
o tuT nryT jpl;lk; kw;Wk; nrd;kjp epYit vd;gtw;Wf;F mjpf Rikahf 

mikjy;. 
o mur epjp Kfhikj;Jtk; fbdkhf mikjy. 
o nghUshjhu tsu;r;rp ghjpf;fg;gly;  
o fld; Rikia mjpfupj;jy;                       (1 tPjk; 4 Gs;spfs;) 

 

8. 

I.      ,yq;if                               rPdh 
1 Kg Njapiy : 2 ciog;G vdpy;     1 Kg Njapiy : 4 ciog;G vdpy;  
1 ciog;G : 1/2 Kg Njapiy     1 ciog;G : 1/4 Kg Njapiy  
1 ciog;G : 0.5 Kg Njapiy      1 ciog;G : 0.25 Kg Njapiy  
 
muprp 1 Kg   =   4 ciog;G vdpy;    muprp 1 Kg   =  2 ciog;G vdpy; 
1 ciog;G   =   1/4 muprp        1 ciog;G   =   1/2 muprp        
1 ciog;G   =   0.25 muprp       1 ciog;G   =   0.5 muprp  
 
,U ehLfspdJk; cw;gj;jp jfty;fs; 
 

gz;lk; ,yq;if rPdh 
Njapiy 0.5 x 200 = 100 0.25 x  200 = 50 
muprp 0.25 x 200 =  50 0.5 x 200  = 100 
 

(a) 

     

(rupahd xU tupg;glj;jpw;F 2 Gs;sp tPjk; 2 tupglq;fSf;F 4 Gs;spfs;) 

 

 

 

 

 

 

 

,yq;if 

cw;gj;jp 
,aYik 

rPdh muprp muprp 

Njapiy Njapiy 

cw;gj;jp 
,aYik 50 

100 

100 

50 



  (b) 

   ,U ehLfspdJk; mikar; nryT 

gz;lk; ,yq;if rPdh 
Njapiy 2/4  = 0.5 4/2  = 2 
muprp 4/2  =  2 2/4  = 0.5 

 

,yq;if xU fpNyh Njapiyapid Vw;Wkjp nra;J muprpapy; 0.5 I tpl 
$LjyhfTk;> 2 I tpl FiwthfTk; th;j;jf ,ilntspapy; (gupkhw;w ,ilntsp) 
eltbf;if Nkw;nfhs;tjhdJ ,yq;iff;F ed;ik gaf;Fk;.       (2 Gs;spfs;) 

 

II.   

o Vw;Wkjp tUkhdj;ij tpl ,wf;Fkjp nryT mjpfupj;jy;  
o cs;ehl;L cw;gj;jp nryT mjpfupg;G fhuzkhf ,wf;Fkjpf;fhd Nfs;tp 

mjpfupj;jy;  
o ntspehl;L Kjyhk; epiy tUkhdf; nfhLg;gdTfs; mjpfupj;jy;  
o ehl;bd; murpay; ];jpukw;w jd;ik  
o tuT nryT jpl;l gw;whf;Fiwf;F epjpaPl;lk; nra;tjw;F ntspehl;L 

%yq;fspy; ,Ue;J fld; ngWtjw;fhd ntspehl;L epWtdq;fSf;Fk; 
ntspehLfSf;Fk; nrYj;jg;gl Ntz;ba tl;b ngUkstpy; mjpfupj;jy;.                   

(1 Gs;sp) 

 

III. kpjf;Fk; ehza khw;W tPjk; nray;gLj;jg;gLk; nghUshjhuq;fspy; 
,wf;Fkjpf;fhd Nfs;tp mjpfupf;Fk;NghJ nlhyUf;fhd Nfs;tp D ,Ue;J D1 
Mf mjpfupf;fpd;wJ. nlhyupd; epuk;gy; epiyahf fhzg;gLk; re;ju;g;gj;jpy; 
nlhyupd; Nfs;tp mjpfupf;Fk;NghJ ntspehl;L ehza khw;W tPjk; 
Nja;tilfpwJ. ,t;thW nra;Ak;NghJ Vw;Wkjp Cf;Ftpf;fg;gLk;. ,jdhy; 
kPz;Lk; nlhyupd; epuk;gyhdJ S ,ypUe;J S1 Mf mjpfupf;f njhlq;Fk;. 
nlhyupd; Nfs;tp mjpfupf;Fk; Ntfj;jpNyNa nlhyupd; epuk;gYk; 
mjpfupf;Fkhapd; ehzakhw;W tPjk; kPz;Lk; epiyahd kl;lj;Jf;F tUk;. 

(tpsf;fj;jpw;F 2 Gs;spfs;) 

 

nlhyh; tpiy                          S 

                                                          S1 

 

  nlhyh; 1 &¡375 

  nlhyh; 1 &¡300 

 

                                                 D        D1 

                   0               Q   Q1    Q2             nlhyh; njhif 

                                                        (tupg;glj;jpw;F 2 Gs;spfs;) 



IV.  
a. tpahghu fzf;F tuT> epjp kw;Wk;; Vida KjyPLfs; fzf;fpy; 

ehzaq;fSk; itg;GfSk; nryT  
b. Nrit fzf;F tuT> epjp kw;Wk;; Vida KjyPLfs; fzf;fpy; 

ehzaq;fSk; itg;GfSk; nryT  
c. Kjy; epiy tUkhdf; fzf;fpy; nryT> epjp kw;Wk;; Vida KjyPLfs; 

fzf;fpy; ehzaq;fSk; itg;GfSk; tuT  
d. epjpf;fzf;F Vida KjyPLfs; nryT (nghWg;Gf;fs; mjpfupj;jy;) 

epjpf;fzf;F Vida KjyPLfspy;; ehzaq;fSk; itg;GfSk; nryT  
          (1 tPjk; 4 Gs;spfs;) 

 
V.     

o Vw;Wkjp njhopyhsu;fSf;F khdpak; toq;fy;  
o Vw;Wkjp gd;Kfg;gLj;jy;  
o Vw;Wkjp Cf;Ftpg;G tisaq;fis cUthf;Fjy;  
o Gjpa Vw;Wkjp re;ijfis Njbf;nfhs;sy;  
o tu;j;jf xg;ge;jq;fs; nra;jy;  
o Vw;Wkjp tupr;rYifia toq;Fjy; 

9. 

I.  
o Ngupdg; nghUshjhuk; cWjpia NgZjy;  
o cl;fl;likg;G trjpfis tpUj;jp nra;jy;  
o Nrkpg;G kw;Wk; KjyPL vd;gtw;iw cau;kl;lj;jpy; itj;jpUj;jy;  
o G+Nfhska nghUshjhuj;jpd; ed;ikfisg; ngw;Wf; nfhs;sy;  
o kdpj %yjdj;ij Kd;Ndw;Wtjw;F eltbf;iffis Nkw;nfhs;sy;  
o Neub ntspehl;L KjyPLfis Cf;Ftpj;jy;  
o nefpo;thd ciog;Gr; re;ij xd;iw cUthf;Fjy;  
o Muha;r;rp kw;Wk; mgptpUj;jp Jiwfspy; KjyPLfis mjpfupf;fr; nra;jy;  
o Vw;Wkjpia gd;Kfg;gLj;jy;  
o mur jdpahu; gq;Filikia mjpfupj;jy;  

(xU tplaj;Jf;F xU Gs;sp tPjk; Ie;J tplaq;fSf;F 5 Gs;spfs;)  
 

II.      
1. nghJkf;fs;  
2. Gtp  
3. RgPl;rk;  
4. rkhjhdk;  
5. gq;F eltbf;iffs;             (5 Gs;spfs;) 

 

III. fpuhkpaj; Jiwapd; tWikahdJ efu;g;Gw tWikia tpl cau;thf ,Uf;ff; 
fhuzq;fs; 

i. gj;J jrhg;jq;fSf;F Nkyhf fhzg;gl;l Aj;j R+oy; tlf;F kw;Wk; fpof;F 
gpuNjr kf;fspd; tWik epiyf;F Neub nry;thf;F nrYj;jp cs;sJ. 
gpuNjr mgptpUj;jpf;F gad;gLj;jg;gLk; gzk; Aj;jj;jpw;fhf nrytplg;gl> 



ntspehl;L KjyPl;lhsu;fs; tUif juhky; ifj;njhopy;fs; Kd;Ndw;wk; 
milahik> clw; FiwghLilNahu; tpjitfs; ,lk;ngau;e;Njhu; 
mjpfupj;jy; vd;gd fhuzkhf r%f nryTfs; mjpfupg;G vd;gtw;why; 
mg;gpuNjrq;fspy; tWik epiy mjpfupj;Js;sJ. 

ii. murhq;f nfhs;iffspy; fhzg;gLk; FiwghLfSk; fpuhkpa tWikf;F 
fhuzkhfpAs;sJ Kiwrhu; fld; trjpfis ngw;Wf; nfhs;Sk; NghJ 
gy;NtW fhuzq;fspdhy; fpuhkpa kf;fSf;F fld; trjp ngw;W nfhLf;fg; 
gLtjpy;iy. mNjNghy; fhg;GWjp eltbf;iffis nray;gLj;JtjpYk; 
FiwghLfs; cs;sd. ,jdhy; efu;g;Gw kf;fSf;F ,j;jifa trjpfis 
ngw;Wf; nfhs;tJ ,yFthf mike;jhYk; fpuhkpa kf;fSf;F trjpfs; 
fpilf;fhky; NghtJ tWikf;F fhuzkhFk;. 

iii. efu;g;Gwq;fis Kjd;ikg;gLj;jp nfhs;iffs; nraw;gLtjdhy; efu;g;Gw 
tWik FiwtNjhL mit fpuhkpa gFjpfspy; nray;gLj;jg;glhik fpuhkpa 
tWikia jPtpug;gLj;JfpwJ.  

iv. fpuhkpa kf;fs; mjpfkhf mur kw;Wk; mur rhu;gw;w mikg;Gfs; kw;Wk; 
Vida khdpaq;fs; kPJ Njitf;F mjpfkhf jq;fpapUf;f gofpAs;sdu; 
cjhuzk; [drtpa r%u;j;jp ,jdhy; Cf;Ftpj;jy; Ra cw;rhfk; vd;gd 
kf;fsplkpUe;J ,y;yhky; Ngha; cs;sNjhL Nghl;bj; jd;ikAk; ,y;yhky; 
NghAs;sJ. ,e;epiyik tWik mjpfupf;f fhuzkhFk;.  

v. FWq;fhy murpay; eyd; ngw;Wf;nfhs;Sk; Nehf;fpy; khdpak; 
toq;fg;gLtjhy; fpuhkpa gpuNjrq;fspy; ePz;lfhy mgptpUj;jp Nehf;fk; 
kOq;fbf;fg;gl;L cs;sJ ,JTk; xU fhuzkhfpd;wJ.  

vi. trjp Fiwe;j tPLfs; trjp Fiwe;j Raey eltbf;iffs; Fiwe;j kw;Wk; 
fy;tp trjpfs; nkhop gpur;rid rpwe;jntsp njhlu;Gfspd;ik re;ijg; 
gLj;Jk; jpwd; fpuhk kf;fsplk; ,y;yhjpUj;jy; Nghd;witAk; tWikf;F 
fhuzkhfpd;wJ.  

vii. tpNrlkhf fpuhkpa kw;Wk; ngUe;Njhl;l kf;fspilNa fhzg;gLk; 
Nghijg;nghUs; kw;Wk; kJ ghtid mbg;gilj; Njitfis fUj;jpw; 
nfhs;shJ NtW NjitfSf;F gzk; nrytply;> xOq;FKiwfs; ,d;ik> 
fld; gLk; epiyik> tPl;L td;Kiw> gy;NtW Neha;fs; Nghd;wd 
,k;kf;fspd; tWik mjpfupg;gjw;F fhuzkhf cs;sJ  
 
       (xU tplaj;Jf;F xU Gs;sp tPjk; 5 Gs;spfs;) 
 

iv.       
o xU ehl;bd; ciog;G tsq;fs; G+uzkhf cw;gj;jpf;F gad;gLj;jg;glhky; 

,Ug;gJ Fiw njhopy; kl;lk; vd miof;fg;gLfpd;wJ.      (1 Gs;sp)  
o Fiw njhopy; kl;lk; ,uz;L jd;ikfisf; nfhz;Ls;sJ  (2 Gs;spfs;) 
o 1 fl;GydhFk; Fiw njhopy; kl;lk;  
o 2 fl;Gydhfhj Fiw njhopy; kl;lk;        
o fl;GydhFk;  Fiw njhopy; kl;lk; vd;gJ cw;gj;jpahsu;fs; Ntiy 

nra;a tpUk;Gfpd;w NghjpYk; mjw;F nghUj;jkhf Ntiy fpilf;fhik 
fhuzkhf Ntiyapd; msT my;yJ Ntiy Fiwtiltjdhy; 
Vw;gLfpd;w Fiw njhopy; kl;lk; MFk;.                (2 Gs;spfs;) 
 



o fl;Gydhfhj Fiwnjhopy; kl;lk; vd;gJ ciog;ghsu;fs; ngw;Ws;s 
epGzj;Jt njhopy;fSf;F gjpyhf mij tpl Fiwe;j epGzj;Jt kl;lk; 
Njitg;gLk; njhopy;fspy; <LgLjy; fhuzkhf Vw;gLk; Fiw njhopy; 
epiyahFk;  

o cjhuzkhf gl;ljhup xUtu; mYtyf cjtpahsuhf nraw;gly; 

                                                        (2 Gs;spfs;) 

10. 

i.  
o Nrit toq;fy; trjp kw;Wk; re;ij trjpia NkYk; Kd;Ndw;Wjy;  
o Gjpa re;ij nfhs;if xd;iw jahupj;jy;  
o Nghl;b cw;gj;jp kw;Wk; epjpr; re;ij %yk; Gjpatw;iw mjpfupj;jy;  
o KjyPLfis Cf;Ftpg;gjw;fhf nfhs;iffisj; jahupj;jy;  
o cl;fl;likg;G trjpfis tpupTgLj;Jjy;  
o njhopy;Jiw gpur;ridfSf;F jPu;T ngw;Wf;nfhLj;jy; 

(1 tplaj;jpw;F 1 Gs;sp tPjk; 5 Gs;spfs;) 
ii.     

o 2019 Mk; Mz;L capu;j;j QhapW Fz;L ntbg;G fhuzkhf Rw;Wyhg; 
gazpfspd; tUif 18% tPjj;jpdhy; Fiwtile;jJ  

o vupnghUs; gpur;rpid kpd;rhuk; Jz;bg;G vd;gd fhuzkhf Rw;Wyhg; 
gazpfSf;fhd trjpfis nra;J nfhLg;gjpy; trjpapd;ik  

o mj;jpahtrpa gz;lq;fspd; gw;whf;FiwAk; ,wf;Fkjp gz;lq;fs; 
Fiwtile;jikAk;  

o gztPf;fk; mjpfupj;jy;  
o u\;a cf;iud; gpur;ridfshy; Rw;Wyh gazpfspd; tUif Fiwtiljy;  
o Rw;Wyh ifj;njhopypd; epr;rakw;w jd;ikAk; Ntiytha;g;G 

,of;fg;gl;likAk; fhuzkhf gapw;rp ngw;w Copau;fs; ntspehL nry;tJk; 
NtW njhopYf;F nry;tJk; fhuzkhf gapw;rp ngw;w Copau;fs;  gw;whf;Fiw  

o Kiwrhuh Jiw Rw;Wyhj;Jiwapidf; ifg;gw;wpf; nfhz;likahy; 
newpKiwfs; Kwptile;jJ ehl;bd; rpwe;j gpujpgpk;gk; ,y;yhJ Nghjy;.  

o tya ehLfspy; Nghl;bj;jd;ik mjpfupj;jy;.  
o ehl;by; tpjpf;fg;gLk; fl;Lg;ghLfs; kw;Wk; jpBu; khw;wq;fs; Nghd;w f\;lkhd 

epiyikfshy; Rw;Wyhj;Jiw tjptpl trjpfs; kw;Wk; Nghf;Ftuj;J 
trjpfis Kd;$l;bNa xOq;F nra;J nfhs;tjw;F gpd;dpw;wYk; Nkyjpf 
nfhLg;gdTfs; ,d;wp uj;J nra;tjw;F trjp mspf;Fk; kw;Wk; khw;W 
njupTfspy; gf;fk; Rw;Wyhg; gazpfspd; ftdk; jpUk;Gjy;.  

o ,iza trjpfs; kw;Wk; Vida cl;fl;likg;G trjpfs; Nghjhik 
 (1 tplaj;jpw;F 1 Gs;sp tPjk; 5 Gs;spfs;) 
 

iii.     

 tPl;bypUe;J Ntiy nra;tjd; ed;ikfs;  
o mYtyfj;Jf;F nry;tjw;fhf nrytopf;Fk; Neuk; kPjkhjy; 
o tPl;by; ve;j xU ,lj;jpypUe;Jk; Ntiy nra;a KbAk;  
o kw;wtu;fspd; ,ilA+wpd;wp ftdj;ij NtW gf;fk; nrYj;jhky; Ntiy nra;a 

KbAkhjy;  
o jdJ ,yf;fpidAk; ghijiaAk; jahupg;gjw;F vspjhjy;  


